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QUESTION 1

While troubleshooting a network outage, a network engineer discovered an unusually high level of broadcast traffic
coming from one of the switch interfaces. Which option decreases consumption of bandwidth used by broadcast traffic? 

A. storm control 

B. SDM routing 

C. Cisco IOS parser 

D. integrated routing and bridging 

E. Dynamic ARP Inspection 

Correct Answer: A 

 

 

QUESTION 2

Refer to the exhibit. 

BPDUGuard is enabled on both ports of SwitchA. Initially, LinkA is connected and forwarding traffic. A new LinkB is then
attached between SwitchA and HubA. Which two statements about the possible result of attaching the second link are
true? (Choose two.) 

A. The switch port attached to LinkB does not transition to up. 

B. One or both of the two switch ports attached to the hub goes into the err-disabled state when a BPDU is received. 

C. Both switch ports attached to the hub transitions to the blocking state. 

D. A heavy traffic load could cause BPDU transmissions to be blocked and leave a switching loop. 

E. The switch port attached to LinkA immediately transitions to the blocking state. 

Correct Answer: BD 
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QUESTION 3

A network engineer must adjust the STP interface attributes to influence root port selection. Which two elements are
used to accomplish this? (Choose two.) 

A. port-priority 

B. cost 

C. forward-timers 

D. link type 

E. root guard 

Correct Answer: AB 

 

QUESTION 4

Which technique allows specific VLANs to be strictly permitted by the administrator? 

A. VTP pruning 

B. transparent bridging 

C. trunk allowed VLANs 

D. VLAN access-list 

E. L2P tunneling 

Correct Answer: C 

 

QUESTION 5

A network engineer changed the port speed and duplex setting of an existing EtherChannel bundle that uses the PAgP
protocol. Which statement describes what happens to all ports in the bundle? 

A. PAgP changes the port speed and duplex for all ports in the bundle. 

B. PAgP drops the ports that do not match the configuration. 

C. PAgP does not change the port speed and duplex for all ports in the bundle until the switch is rebooted. 

D. PAgP changes the port speed but not the duplex for all ports in the bundle. 

Correct Answer: A 
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